EARAROBEEIERT — 2 N— IBISH —F

2018F11A1H (K) 17EI&BEE3H

4R Ki:ARE LYY \ [%2] % \ [ErmE] — | 4 (&) 14000 &
[AE4£] 1% :270,000 ™ ~ 237%&:68,000"  33&:32,000H  437&:22,000MH .~ 57&:14,000
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

o 4 3 | #LBAE 1:30.6 1-1-1-1 | 38.8| — 1 476 | AEED (BHE)

A—=IN—/ =% 54.0 =) -2) #) Zwy>
L:O—KA+FA7 B:LX&2>/—b BRT7—LI

Ay % 3 | DEEX 1(:33/%8 5-4-32 |38.6| — | 2 (4116) z §§$ (BEE)
L:RU—LIv—=— BT TIVhE BR&H 2TV INL—

- FPITE :32. 24~ . — HEE (BHE)
eIy, 3 o 1(362>1 2-2-4-4 | 39.8 4 <4+2313) LE B
LixyUgTdyk BiNLT—a1FEX EvilLy RTr—L

e . _n_o_ — B
2 hANY—E>Y f 3 sﬁi_ngrﬁ 1.(332).8 3-3-2-3 | 40.7 3 :_222) %%;EQ%HE)
R:B— RILRIIL B:AAHY ML Z— HET7—L
N - = PEEE— 132, -9-9- . — WinE— (BHE)
TL—sFr—5— 3 ooe 1(/3333 9-9-9-7 |39.3 8 422)7 @%ﬁ
RiN— KRR B:T7X)H—F Sz e ]

R NS b AT ES 132, —6-5- . - RiER (BHE)
MALHT TR 4 3 *55'.3(]) 1(/:\32; 5-6-5-5 | 39.9 5 ‘:Z? £
:J4 U h7—vEY B:OAVIAVYT1T ARETa—T7—L

3 4 3 | KIAHEE 1:33.6 8-8-6-6 | 40.7| — 9 457 | SRREX (BHE)
701[1| b7/ HRFTI 54.0 A Ca |BRAME
LZANT w4 =Y Bz AITTN—h FAEHIS
=3 SR . B 3 | SHEX 1:33.9 7-7-8-8 | 40.5| — 6 440 |BRBX (BHE)
g|8|g|=>FN xSl 54.0 (11/2) (o) |$BEBHE
Rixq4yayR—5— BHF/NLLEZA> RSZRZRY—T7—L
— s — 1) :36. -5-7- . — BriE—% (4B
9!5!5 A-wLFq % 3 e (1;{61;3) 4-5-7-9 | 43.2 7 (4_622) o
L:¥rsn7aA B7MAAvILT A pitsct e ]
® I—F—@EBIERL
|S=7r= 2,3,7,5,(6,9),8,1,4
Ao=5"= 2,3,7,9,5,6,8,1,4
T =35r= 2,7,9,3,6,1,5,8,4
41—F— 2,9,7,3,6,1,4,8,5
[ RN
-y 2 120 | | 714 K 2-9 120 | | # = 2-8 140 | | =R 2-3-9 470
# B 2 1004 2=3) 320 B E 2-9 170M EE 2-9-3 870M
9 1004 3-9 390M B H 2-9 210
3 1909

ABICOVWTRDTEEERROODE. TR LIV,




